2R 1 FFER

2 - LHR

EFHRA (REEES B A KA 5 1 B S 8 | 2f 3% | 4 | 5% | es8 | 7 | 8 | 9% | 104
1| EE#EE 9:30~12:1018% |1 9:30 13:00 R
6/1 ) 2| wmea | 6/8 | 1300~1540 55 |2 - 6/10 |_2:45~10:25] 13:16~13:65| MmHA | Hmm e | EHii| Mmns | AP | ke W BT |HWEAR|HEAR
(8) s zz21 |(m| wremazsm |3 N 10:35~11:15| 14:05~14:45| %= WY | BERb | SDER | BERS | SRR | WEAR | WEAR| 2a EE
| aE ORI Y R ) 15 —12:05] 1455~15:35| EWERE | AMER | BEAR| BE | WEAR|EZRe| &F | Bz | &% |5&ka
1 HBERA 1 3] 12:10 15:40 TR
6/2 2| %A | 6/9 2| FpEsw 13:00 9:30 B
0% ) 3| == | wo ) 3| mzEms 6/12 | 13:15~13:55] 9:45~10:25] WEAR [ MEAR [ % et eSS ¥y | EERS | EERA | £nER| iR
e EES 4| EEEA (o) [LE0s—1a05] T035~1115] R WY | WEAR| W7 | WEAR| t0ER| £VER | Bake | 57
9:30~11:30 &#k 1 - 1 = 14:55~15:35] 11:25~12:05 LHR
6/3 | 13:00~15:0018% |2 - g/10| FOT120w 2 - 15:40 12:10 TR
13:00~15:40 18%
(k) LHR 3 - (k) o 3 -
(H1v7-y37) 4 - 4 _
A 1| #FA
6/4 2|12 e Eg| 6/11 2| =mER
() 3 k) HEEED
4 | =z
6/5 ; 6/12 9:30~12:10 18%& ]é :
- 13:00~15:40 &%
%) 3 &) 3 -
4 4




